SYSTEM NEUTRAL, CONTINUOUS, PORTABLE

1 and 1.2 Standard, Low and High Flows

All Moldels Except
Cryo Associates

after 3/94 and
before 6/94

RN
I
I
I
I
I
I
L
After 3/94 and

Before 6/94

/
0%
[fore 4/94

CRYO ASSOCIATES




SYSTEM NEUTRAL, CONTINUOUS, PORTABLE

1 and 1.2 Standard, Low and High Flows

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 210022M-NLA | NLA - Tube, Outlet Vent 1 1
1 B 210072M-NLA | NLA - Tube, Outlet Vent 1 1
1 C 210079M-NLA | NLA - Tube, Outlet Vent 1 1
2 D 210031M-NLA | NLA - Flange Tube, Vent to Fill (VTF) 1 1
2 C 210076M-NLA | NLA - Flange Tube, Vent to Fill (VTF) 1 1
3 210033M-NLA | NLA - Washer, Lock (#10) 1 4
4 A 210052M-NLA | NLA - Heat Exchanger Assembly 1 1
4 B 210070M-NLA | NLA - Heat Exchanger Assembly 1 1
5 E 210075M-NLA | NLA - Fitting, Hose 1 1
6 E 211071M-NLA | NLA - Fitting, Elbo, Brass 1 1
7 211210M-NLA | NLA - Vent to Fill (VTF) Valve with Handle 1 1
8 211219M-NLA | NLA - Fitting, Inlet 1 1
9 F,H | 110051M-NLA | NLA - Fitting, Union (7/16-20) 1 1
9 G,H | 211346M-NLA | NLA - Fitting, Plug (7/16-20) 1 1
10 H 2002147-NLA | NLA - O-Ring, Spring Loaded (1-1/4" x 1-7/16") 1 1
11 H,l 212018M-NLA | NLA - O-Ring (3/8" I.D. x 1/16") 1 1
12 214004M-NLA | NLA - Ty-Wrap (4") 1 5
13 214056M-NLA | NLA - Screw, Hex Head (#10-24 x 7/8") 1 4
14 214067M-NLA | NLA - Screw, Phillips Pan Head (#8-32 x 3/8") 1 2
I 214095M-NLA | NLA - Screw, Hex Head (#10-24 x 1/2") 1 2
15 110030M-NLA | NLA - Tygon Tubing 1 1
16 D 801033M-NLA | NLA - Relief Valve, 30 PSI with O-Ring 1 1
16 C 801240M-NLA | NLA - Relief Valve, 75 PSI with O-Ring 1 1
J 2003068-NLA | NLA - Filter, Inlet - For Relief Valves 1 1
17 111201M-NLA | NLA - Fitting, Barbed with O-Ring - Flow Selector 1 1
18 D |110008MO1-NLA | NLA - Flow Selector-Standard 0-6 LPM 1 1
18 C |110008M04-NLA | NLA - Flow Selector-Standard 0-6 LPM 1 1
18 D |110008MO03-NLA | NLA - Flow Selector-Low 0-2.5 LPM 1 1
18 C |110008MO06-NLA | NLA - Flow Selector-Low 0-2.5 LPM 1 1
18 D [110008M02-NLA | NLA - Flow Selector-High 0-15 LPM 1 1
18 C |110008M05-NLA | NLA - Flow Selector-High 0-15 LPM 1 1
NOTE: A - All Models Except Cryo Associates & Linde
B - Cryogenic Associates (Caire)
C - Linde (Mark)
D - All Models Except Linde (Mark)
E - Before 4/94

F - After 5/94

G - Before 6/94
H - It is recommended when replacing to use Invacare products only
|- 1 Liter Only
J - Not Shown




SYSTEM NEUTRAL, CONTINUOUS, PORTABLE
1 and 1.2 Standard, Low and High Flows

All Moldels Except
Cryo Associates

after 3/94 and
—. before 6/94
(22)
A

/ |
- ¢ b |
7N N \ AN
e 31) |
(T - |
|
[ 20~
NN Y 2 //
(\2:4/' K?VQ/) Lv_\J
before 4/94 - After 3/94 and é:f\‘

Before 6/94  ~_“




SYSTEM NEUTRAL, CONTINUOUS, PORTABLE

1 and 1.2 Standard, Low and High Flows

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
19 AB 211085M-NLA | NLA - Tee Fitting (1/4" CPI) 1 1
20 A,C | 210044M-NLA | NLA - Valve, Primary Relief Valve - 23 PSI 1 1
20 A,.D | 210058M-NLA | NLA - Valve, Primary Relief Valve - 55 PSI 1 1
20 E 110042M-NLA | NLA - Valve, Primary Relief Valve - 23 PSI 1 1
20 E 110043M-NLA | NLA - Valve, Primary Relief Valve - 55 PSI 1 1
21 C 211016M-NLA | NLA - Primary Relief Valve - 23 PSI 1 1
21 D 211238M-NLA | NLA - Primary Relief Valve - 55 PSI 1 1
22 210048M-NLA | NLA - Tubing, Primary Relief Valve 1 1
23 211186M-NLA | NLA - Fitting, Primary 1 1
24 210061M-NLA | NLA - Tubing, Inlet Vent to Fill (VTF) 1 1
25 210059M-NLA | NLA - Tubing, Flange Vent to Fill (VTF) 1 1
26 111202M-NLA | NLA - Fitting, Portable Outlet 1 1
27 210012M-NLA | NLA - Stand-Off (3/8 x 5/8") 1 2
28 211230M-NLA | NLA - Nut, Hex (#10-32) 1 2
29 110040M-NLA | NLA - Fitting, Tee (1/4 CPI 1/8 NPT) 1 1
30 110038M-NLA | NLA - Tube, Primary Relief 1 1
31 110039M-NLA | NLA - Tube, Vent to Fill (VTF) 1 1
32 110052M-NLA | NLA - Tube, Flange 1 1
33 211344M-NLA | NLA - Nut, CPI (1/4") 1 1
34 211062M-NLA | NLA - Ferrule, 1/4" CPI 1 1
35 110053M-NLA | NLA - Tube, Economizer 1 1
36 C 110049M-NLA | NLA - Economizer Valve - 20 PSI 1 1
36 D 110050M-NLA | NLA - Economizer Valve - 50 PSI 1 1
37 420054M-NLA | NLA - Fitting, Bulkhead Adapter 1 1
38 2002184-NLA | NLA - Washer, Flat 1 3
39 214093M-NLA | NLA - Spacer 1 4
F,G | 520074M-NLA | NLA - Kit, Economizer (20 PSI) 1 1
F,G | 520075M-NLA | NLA - Kit, Economizer (50 PSI) 1 1
NOTE: A - Before 4/94
B - After 5/94
C - All Models Except Linde (Mark)
D - Linde (Mark)
E - After 3/94

F - Includes: (1) Each Economizer Tube - 110054M, (1) Each Union Fitting - 110051M, Items 33, 34, 35 and 36.
G - Not Shown




